Alapintegralok

(Dy és Dp) (f az adott fiiggvény) (F az f egy primitiv fliggvénye)
CL‘"+1
R 2" (n € N) ——
(0, +00) % In(x)
(—00,0) % In(—z)
(—00,0) vagy (0,+00) % (2<neN) 1 in . xn:,l—l
:L.aJrl
(0, +00) * (@ €R: a# 1) a+t1
R e’ e’
(0, +00) a® (a € (0,400): a#1) In(a)
R sin(z) —cos(x)
R cos(x) sin(x)
(k=1/2)m,(k+1/2)7) (k € Z) tg(z) —In (cos(x))
(km,(k+ 1)) (k € Z) ctg(x) In (sin(z))
(E=1/2)m,(k+1/2)7) (k€ Z) o2 (2) (=1+tg%(z)) tg(z)




(km, (k+ 1)) (k € Z) 2 () (= 1+ ctg?(z)) —ctg(x)
R sh(zx) ch(zx)
R ch(x) sh(x)
R th(zx) In(ch(z))
(0, +00) cth(z) In(sh(z))
(—00,0) cth(z) In(sh(—z))
R L 1w th(z)
ch”(z
(—00,0) vagy (0,+00) bh21(.13) (=-1+ cth2(x)) — cth(z)
1 T
R 522 arctg(x) (: 5 arcctg(x))
(-1,1) 1_1332 arth(z) = ;m(iji)
(—o0, —1) vagy (1, +0o0) . —1332 arcth(z) = 1 In <i J_r 1)
1 2
R Niww arsh(z) = In (z + V1 + 2?)
(-1,1) \/11—7952 arcsin(x) (: g - arccos(x))
(1, +00) le_ - arch(z) =In (z + V22 — 1)
(—o0,—1) — arch(—z) =In (—z + V22 — 1)




